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EQUAZIONI DI PRIMO GRADO LETTERALI INTERE

1. ax+1l-a=0

ax=a-1 Sea=0: Ox=-1 eg.ne imp.
Seaz0: ﬂ_a__l X:a__l
a a a
2. 3x—a=a(x-3)+6
3x—a=ax—-3a+6 3x—ax=6-2a
x(3-a)=2(3-a) Sea=3: 0x=0 eg.neind.
Se a£3 x(3-a) _2(3-a)
3-a 3-a
3. (a+b)x=4b-(b-a)x
ax+bx=4b-bx+ax
2bx =4b Seb=0: 0x=0 eg.neind.
Seb#0: @=4—b X=2
2b  2b
4. (2-a+b)x=b(x-2)+2(x+b-3)
2x—ax+bx=bx-2b+2x+2b-6 -ax=-6
ax==6 Sea=0: 0x=6 eg.ne imp.
Seaz0: Eﬁ:ﬁ =§
a a a
5. 3Xx—-(x+a)=2(x+a)-4a
3X-X—a=2x+2a-4a
Ox=-a Sea=0: 0x=0 eg.neind.
Seaz0: Ox=-a eqg.ne imp.
6. 2bx-3(b-1)=bx-2b
2bx-3b+3=bx-2b
bx=b-3 Seb=0: O0x=-3 eg.ne imp.
Se b#0:

b

bx:

w

b-3 h-
b

U ‘
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7. 3a(x—-3a+2)=x+1

3ax-9a’+6a=x+1 3ax-x=9a’-6a+1

x (3a-1) =(3a-1)> Se a:%: 0x=0 egneind.

1. x(3a-1)_(3a-1)° AR

Sea#®—:
3 3a-1 3a-1

8. a(bx-2x+1)=abx-2(ax+1)

abx - 2ax+a=abx-2ax-2
Ox=-a-2 Sea=-2: 0x=0 eg.neind.
Seaz-2: Ox=-a-2 eg.ne imp.

9. (a-b)x=a+b

Sea=b: O0Ox=2a Sea=0: 0x=0 eg.neind.
(owero:se a=b =0)
Seaz#0: 0Ox=2a eg.ne imp.
(owero:se a=b # 0)
Seazb: (a—b)x:a+b x:a+b
a-b a-b a-b

10. a(x-b-1)=2(x-b)-2
ax—ab-a=2x-2b-2 ax—-2x=ab+a-2b-2
x(a-2)=a(b+1)-2(b+1) x(a-2)=(b+1)(a-2)

Sea=2: 0x=0 eg.neind.

Sea#2: (a—2)x:(a—2)(b+1) x=b+1
a-2 a-2

11. abx=a+b

Sea=0: Ox=b Seb=0: 0x=0 eg.neind.

Seb#0: Ox=b eg.ne imp.

Seb=0LCa#0: Ox=a eqg.ne imp.

Seaz0 O b#0: @:a+b x:éHb
ab ab ab
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12.

13.

14.

15.

2b(x-2b)+x+1=0
2bx-4b* +x+1=0 2bx + x=4b* -1
x(2b+1)=(2b-1) (2b +1)

Seb:‘%i 0x=0  egneind.
sopz_L. (2b+1)x_(2b-1)(2b+1)
2 2b+1 2b+1
2(ax-1)=b
2ax—-2=b 2ax=2+b
Sea=0: 0Ox=2+b Seb=-2: 0x=0
Sebz-2: 0x=2+b
Seaz0: 2ax _b+2 X=b+2

2a 2a 2a

ax—a(2a-1)+(a+l)x=4(a+2)-2(3a+5)

ax—-2a’+a+ax+x=4a+8-6a-10

2ax+x=2a*-3a-2 x(2a+1)=(2a+1) (a-2)
Seaz—%: 0x=0 eg.neind.
Seai—li (2a+1) x_(2a+1)(a-2)
2 2a+1 2a+1
(a+3b)x+a=b-(2b-a)x
ax+3bx+a=b-2bx+ax
Sbx=b-a Seb=0: Ox=-a Sea=0: 0x=0

Sea#0: Ox=-a

Sebz0;: — =

x=2b-1

eg.neind.

eg.ne imp.

eqg.neind.
eg.ne imp.



